## **REVISED BID ABSTRACT**

## **BIDRESULTS**

W912P8-07-B-0039 Flood Control, Mississippi River and Tributaries, Indefinite Delivery- Indefinite Quantity Contract 2007 Stone Placement, Mississippi, Atchafalaya, and Red Rivers and Old River Control Channels ED 07-025

1. LURH BROS INC. (APP LOW) (L) \$18,680,000.00

2. PINE BLUFF SAND & GRAVEL (L) \$18,762,100.00

ARG	STRACT OF OFFERS - CONSTRU		CITATION N			2. DATE ISSUED 3. DATE OPENED 11 JUN 2007			PAGE 0F	_			
4. ISSUING OFFICE			W912P8-07-B-0039			04 MAY 2007 11 JUN 2007  NAME AND TITLE OF CERTIFYING OFFICIAL (TYPE)				PAGES	<u> </u>		
US ARMY ENGINEER DISTRICT NOD PO BOX 60267 NEW ORLEANS, LA 70160-0267					ave opened, read,	NAME AND TI	TLE OF CERTIFY						
UNRESTRISTRICED					is abstract all esponse to this	SIGNATURE				DATE SIGNED			
5. PROJECT TITLE					ENT ESTIMATE	9. OFFERS							
	Flood Control, Mississippi River and Tributaries, Indefinite Delivery- Indefinite Quantity Contract 2007			(Check A, B or C and complete D, E, and F)  A. HIRED LABOR			NO. 1  A. OFFEROR Luhr Bros. Inc			NO. 2 Sand & Gravel	NO. 3 B. OFFEROR		
Stone Placement, Mississippi, Atchafalaya, and Red Rivers and Old River Control Channels ED 07-025			B. REASONABLE CONTRACT (Without Profit)			B. BID SECURITY (Type and amount) P.O. Box 50			B. BID SECURI P.O. Box	TY (Type and amount) 7008	B. BID SECURITY (Type and amount)		
6. NUMBER OF AMENDMENTS ISSUED 0003			C. REASONABLE CONTRACT (Including Profit)			C. AMENDMENTS ACKNOWLEDGED Columbia, II 62236				TS ACKNOWLEDGED , Ar 71611	C. AMENDMENTS ACKNOWLEDGED		
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED	E. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATED AMOUNT	
0001	Mobilization & Demobilization	1	LS		253,000.00		229,800.00			1,150,000.00			
Option 2 0002													
(Max. 3 Each)	Subsequent Mobilization and Demobilization	3	EA	94,000	282,000.00	10,000.00	30,000.00		1.00	3.00			
0003	Grading & Earth Fill, Mississippi River, Atchafalaya River,												
	Red River , and Old River Control Channels	2,600	CY	6.15	15,990.00	7.00	18,200.00		4.00	10,400.00			
0004	Stone Upper Bank Paving Atchafalaya River, Red River	-											
	And Outflow Channels	3,000	TON	34.20	102,600.00	39.00	0 117,000.00		31.00	93,000.00			
0005	Stone Upper Bank Paving Mississippi River and Inflow												
	Channels	15,000	TON	34.00	510,000.00	39.00	585,00	00.00	32.00	480,000.00			

_			1. SOLICITATION NUMBER W912P8-07-B-0039			2. DATE ISS 04 MA	UED Y 2007	3. DATE OP	ENED JN 2007	PAGE 0F PAGES	<del>_</del> ;	
4. ISSUING OFFICE US ARMY ENGINEER DISTRICT NOD PO BOX 60267 NEW ORLEANS, LA 70160-0267					ave opened, read, is abstract all	NAME AND TI	TLE OF CERTIFY	_				
UNRESTRISTRICED				eceived in re	esponse to this	SIGNATURE				DATE SIGNED		
5. PROJECT TITLE					ENT ESTIMATE	9. OFFERS				1000		110.0
Flood Control, Mississippi River and Tributaries, Indefinite Delivery- Indefinite Quantity Contract 2007			(Check A, B or C and complete D, E, and F)  A. HIRED LABOR			NO. 1  A. OFFEROR Luhr Bros Inc			B. OFFEROR Pine Bluff	NO. 2 Sand & Gravel	NO. 3 B. OFFEROR	
Stone Placement, Mississippi, Atchafalaya, and Red Rivers and Old River Control Channels ED 07-025			B. REASONABLE CONTRACT (Without Profit)			B. BID SECURITY (Type and amount) P.O. Box 50			B. BID SECURI P.O. Box	TY (Type and amount) 7008	B. BID SECURITY (Type and amount)	
6. NUMBER OF AMENDMENTS ISSUED 0003			C. REASONABLE CONTRACT (Including Profit)			C. AMENDMENTS ACKNOWLEDGED Columbia, II 62236			Pine Bluff	TS ACKNOWLEDGED AR 71611	C. AMENDMENTS ACKNOWLEDGED	
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE			ED	D. UNIT PRICE	E. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATED AMOUNT
0006	Stone Subaqueous Paving Atchafalaya River, Red River							-				
	And Outflow Channnels	3,000	TON	33.95	101,850.00	38.00	114,00	00.00	31.00	93,000.00		
0007	Stone Subaqueous Paving Mississippi River and Inflow											
	Channels – 200 LB. Stone	25,000	TON	33.70	842,500.00	35.00	875,00	00.00	32,00	800,000.00		
								-				
0008	Stone Subaqueous Paving, Mississippi River and Inflow							-				
**	Channels – Grade Stone "B"	353,500	TON	31.55	11,152,925.00	30.00	10,605,0	10,605,000.00		10,958,500.00		
0009	Foreshore Dike Repairs Southwest Pass, 36"							-				
	Gradation Stone	22,000	TON	46.30	1,018,600.00	47.00	1,034,0	00.00	49.50	1,089,000.00		
0010	Stone Dike Paving Atchafalaya River, Red River Outflow							-				
	Channels	3,000	TON	31.90	95,700.00	36.00	108,00	00.00	28.00	84,000.00		
0011**	Stone Dike Paving Mississippi River and Inflow Channels	112,500	TON	31.70	3,566,250.00	34.00	3,825,0	00.00	28.00	3,150,000.00		

ABSTRACT OF OFFERS - CONSTRUCTION			1. SOLICITATION NUMBER W912P8-07-B-0039			2. DATE ISSI 04 MA				PAGE OF PAGES	-	
4. ISSUING OFFICE US ARMY ENGINEER DISTRICT NOD PO BOX 60267 NEW ORLEANS, LA 70160-0267					ave opened, read, is abstract all	NAME AND TI	TLE OF CERTIF	-				
UNRESTRISTRICED					esponse to this	SIGNATURE				DATE SIGNED		
5. PROJECT TITLE					ENT ESTIMATE	9. OFFERS						NO 0
Flood Control, Mississippi River and Tributaries, Indefinite Delivery- Indefinite Quantity Contract 2007			(Check A, B or C and complete D, E, and F)  A. HIRED LABOR			A. OFFEROR Luhr Bro			B. OFFEROR Pine Bluff	NO. 2 Sand & Gravel	NO. 3  B. OFFEROR	
	Stone Placement, Mississippi, Atchafalaya, and Red Rivers and Old River Control Channels ED 07-025			B. REASONABLE CONTRACT (Without Profit)			B. BID SECURITY (Type and amount) P.O. Box 50			TY (Type and amount) 7008	B. BID SECURITY (Type and amount)	
6. NUMBER OF AMENDMENTS ISSUED 0003				C. REASONABLE CONTRACT (Including Profit)			C. AMENDMENTS ACKNOWLEDGED Columbia II 62236			TS ACKNOWLEDGED AR 71611	C. AMENDMENTS ACKNOWLEDGED	
7A. ITEM NO.	7B. DESCRIPTION OF OFFERED ITEM	7C. EST. QUANTITY	D. UNIT	D. UNI T	D. UNIT PRICE	E. ESTIMA TED	G. ESTIMATED AMOUNT		D. UNIT PRICE	E. ESTIMATED AMOUNT	D. UNIT PRICE	E. ESTIMATED AMOUNT
0012	Stone Repairs, Atchafalaya River, Red River and	ya										
	Outflow Channels	8,000	TON	34.05	272,400.00	40.00	320,000.00		31.00	248,000.00		
0013	Stone Repairs Mississippi River and Inflow Channels	11,600	TON	34.00	394,400.00	40.00	464,000.00		32.00	371,200.00		
0014**	Stone Key Construction Atchafalaya River	1800	LF	11.10	19,980.00	100.00	180,0	00.00	50.00	90,000.00		
0015	Hog Point Channel Contraction Works Repair, Mississippi River											0015
	(Miles 300.4 to 297.4 AHP) "A" Stone	5,000	TON	27.35	136,750.00	35.00	175,0	00.00	29.00	145,00.00		
		TOTAL			18,764,945.00		18,680,	,000.00		18,762,103.00		
								-				0015